= o
A & 0l & AF 2 E A A
20169 = S0la LA NEFL2
fAM: ANAREE W
AL JEs 259 XNMHIAMEA WS
S SEE WESAIX I DAL AE (&)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEZS 0 3,983,454 3,851,305 132,149
= 273,518
< 27,400
Al 3,682,536
A= FES 2352 ANFHIMHA MBS 3,941,742 3,807,917 133,825
= 273,518
< 27,400
Al 3,640,824
SEE HE S AR DA AE 196,510 195,510 1,000
HESAIKIIL g2 =& 178,987 177,987 1,000
201 Let24E] 177,987 177,987 0
01 At 22l 177,987 177,987 0
OMESANXIN HE =2 175,487
O &= X ot
100,000 XI /43.7Z Xl * 40,000& = 110% 100,687
O H#mME
1,700Z Xl * 40,000& = 50% » 30% * 110% 11,220
Ooleal s
7002 Xl * 40,000 = 50% * 70% = 110% 10,780
O&EXOo=s=2
8,000Z XI * 40,000& = 50% » 30% * 110% 52,800
ORS&EIIAZE ANFE MH 2,500
O3AMF M= 10,000& » 502 53 2,500
203 YR =2l 1,000 0 1,000
03 Al =AY R =& 1,000 0 1,000
OXNEZE H2F&A 1,000, 000& 1,000
HESAIXIDOL CIHE QIASESHAIAH s HHO0E 17,523 17,523 0
201 £B-2%H| 17,523 17,523 0
02 =24l 17,523 17,523 0
OQAIHANAE X2 YUOIE 17,523
OXJt & E4Xs JUOE(S, 2EXDH)
123 = 446 ,000Z Xl * 23] = 110% 11,775
OEHIE 2 HOHOIE(ZEXNI 0Is2)
90& = 52,000Z Xl = 110% 5,148
OSHEZ(EEXN, &2, 22 S) SUO0E
600,000 600
HLERE=s 2, A= 280,115 188,889 91,226
HLRE=s 2= 280,115 188,889 91,226
101 14 Hl 19,235 18,009 1,226
04 JIZtHZ22 s+ 19,235 18,009 1,226
oNg=ReEga ExgRY 17,381
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% Fyas BSo NNHZMHA M2
=13

=2

CHB G (B) - HRAMY - BES il HlnE2
ooy 48,2803 * 29 » 180¢ 17,381
OEE JIaRE3 1,854
OHs=EE 17,381,000& * 3.035% 528
O®IeLEH 528,000& = 6.55% 35
O3z 17,381,000& * 4.5% 783
CnE:LE 17,381,000& * 1.5% 261
Ot EE 17,381,000& * 1.42% 247
201 LBt2E | 258,000 168,000 90,000
01 At 22l 258,000 168,000 90,000
ONg=RE3 ==& 250,000
Olgdl 8 d&5++2 800,000& = 250 200,000
OZEZAEXI EEI =8
1,000,000& * 50 50,000
OMNLRES IR LRESSAS 8,000
Oogss Na 8,000,000 8,000
202 Odl 2,880 2,880 0
01 = LHA YI 2,880 2,880 0
OEXNSHZ AN EX=ZA Gl 2,880
O8 Xl = AHK HI 20,0003 = 3H =« 48¢ 2,880
e s Y g8 767,812 993,633 £225,821
HEE SE 423,000 640,000 A 217,000
207 A RO H| 423,000 0 423,000
02 & AR I 423,000 0 423,000
OZ3UTFEBALE SEFDESH2X) ALY
423,000,000& 423,000
WP ANLTY L ALY RS 344,812 353,633 ~8,821
101 124 dl 17,620 16,295 1,325
4 D12t Z2XREES 17,620 16,295 1,325
O=INEH(M2AH S) EXNZA 22
53,0703 = 298 = 150 15,921
OEE JI&aRE=3 1,699
(OFaR= )= 15,921,000& * 3.035% 484
O&IQYEH 484,000& = 6.55% 32
O30z 15,921,000& * 4.5% 7
ons=sg 15,921,000& * 1.5% 239
OtEH 15,921,000& * 1.42% 227
201 L2 | 324,312 334,458 £10,146
02 3323l 324,312 334,458 A 10,146
OHYHEZZ NGt AIAE |22 38,832
os&s/M 3,236,000& * 122 38,832
OXISIAIZEE SEHCALE SR E | 17,940
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= a0 32
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fs2 NEAZAMEIA M3

K- B3 e2(5) - ARAY - 8BS il
OH/W 148,000 * 123 1,776
og3s/M0 944,000 * 12& 11,328
OF=g=1 403,000& = 128 4,836

OSZEXNHBAIAE(KLIS) R 2= 32,892
OH/W 1,440,000& = 12& 17,280
OFSE=1| 1,301,000& = 12& 15,612
SIS AR 2l Al A R X2 ==t 25,596
OH/W 651,000& * 128 7,812
og8s/M0 1,068,000& = 12& 12,816
OaES/W 414,000& ~ 12& 4,968

Oz=%=7 2t A28 |FXLE=H| 34,140
OH/W 166,000& * 123 1,992
osss/Mm 2,331,000& = 123 27,972
O&ss/W 348,000& * 123 4,176

O=INSAIFEMA FXE=HI| 36,132
OH/W 1,026,000& = 12& 12,312
O&3S/W 1,985,000& = 12& 23,820

O+=XXNEE Ha2Ae AL S E=H| 36,072

23S/W 2,389,000& ~ 12& 28,668
O&aES/W 617,000 * 123 7,404

OEANBEIHEANLHE FXE=H| 10,044
ogss/M0 837,000& * 12& 10,044

OUWPIS AMAE SXIEHl 26,580
OH/W 801,000& = 12& 9,612
OaES/W 1,414,000& = 128 16,968

ORE2S ZANFBBANAE KRAE =4 4,500
os8s/Mm 375,000& * 123 4,500

OFclNEESEMAAE RAE 4 6,204
OH/W 217,000& » 123 2,604
OS88s/M 300,000& * 12&€ 3,600

O3XNJASUABEAAE R E I 38,040
OH/W 731,000 * 123 8,772
ogs s/ 1,369,000& = 12& 16,428
OaE S/ 1,070,000& = 12& 12,840

O3UFBIHAIAE(KIOSK) FAE==HI 1,140
o288 s/ 95,000& * 123 1,140

OMERXZHAAE KA +=H 624
OH/W 52,000& » 123 624

OHETZAGtAAE (N HY) RAESH] 156,576
o288 s/ 1,298,000& = 128 15,576

202 Oddl 2,880 2,880

01 SLHOYI 2,880 2,880
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AL JEs 259 XNMHIAMEA WS
el ZAHE 7E U BE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3UFEHR=A Kbl
20,0003 = 3H « 48 2,880
J232EE 2l 1,950,000 1,950,000 0
XN B (HEAFXH) 1,950,000 1,950,000 0
403 UHXISHHE X201 H 1,950,000 1,950,000 0
02 SJ|1 2SO0l CHSt At 2 X CH & AF I 1,950,000 1,950,000 0
©1/1,000 =X X8 HNBZES
1,950,000, 000& 1,950,000
AE2e| & THEA 586,418 162,328 424,090
= 273,518
Al 312,900
NEo S8%8 22 312,900 153,880 159,020
201 Let2d] 300,300 150,000 150,300
01 At 221l 300,300 150,000 150,300
OXNE=ZSHH dsTA 300,000& 300
OFSUEESFALE DBLESALY
300,000,000 300,000
202 04l 2,600 2,880 A 280
01 = LHA YI 2,600 2,880 A 280
OXNE=FI=Y L NHESRAMASXAHEE =
& 04l 20,0003 = 2% 65 2,600
405 XtaHE SHI 10,000 0 10,000
01 AR ESFH S 10,000 0 10,000
OMAZXNH ISEE MHEHSE T2
10,000,000& * 14 10,000
K= THE AFALS 266,000 0 266,000
= 266,000
201 et 266,000 0 266,000
= 266,000
01 At 2teltl 266,000 0 266,000
OXNHTEA AY Z2t 248
266,000,000 = 14 266,000
= 266,000
AE2e|AtE F=& 7,518 8,448 A 930
= 7,518
101 14 dl 7,518 8,448 A 930
= 7,518
04 JI2ZtHZ22 a2+ 7,518 8,448 A 930
OXNAZELEFA JIZHMIZX AL 7,518
Ooag+ 2,169,000 » 1H 2,169
= 2,169
OM& 1,561,000& * 1H 1,561
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Ha: A MEE 2so NNMHMHA HMZ
X
ES

Ehel Xl’;\?ﬁa & THZE A (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 1,561
Os43 1,915,000& * 1H 1,915
= 1,915
OF&+ 1,873,000& * 1H 1,873
= 1,873
=20 I 2 E2H =2 160,887 317,557 A 156,670
< 27,400
Al 133,487
E2HEEA 2 2 BEE 86,487 209,557 A 123,070
101 @124l 17,620 15,011 2,609
04 JIZHHZ2XNSE+ 17,620 15,011 2,609
OEZ2ZHFAAE LHEA A2
53,0703 * 2¥ 150 15,921
OEd JIaRE3 1,699
(OFaR=g=g= 15,921,000& * 3.035% 484
OFIRAEE 484,000& = 6.55% 32
O=0d= 15,921,000& * 4.5% 77
OnE:Ed 15,921,000& * 1.5% 239
OMTHE S 15,921,000& * 1.42% 227
201 L2l 42,700 147,450 A 104,750
01 At 22l 42,700 144,500 A 101,800
Cd=sds® ME 223 33,400
OBHALXI 800,000& * 62 4,800
OASHSH Vg MRE
2,000& = 1004 200
OEXdHol= 200,000& = 204 400
OH=tse 7,000& = 4,00004 28,000
OE=2H 423 4,300
OgX 50,000& = 202 1,000
@)= 330,000& * 3MIE 990
oY 770,000 = 3MIE 2,310
OE2H=AARE JANMT MH 2,000
O=dMFHE 10,000& = 508 = 43| 2,000
OE2YE=L E28H3 3,000
O22=Z M 1,000& * 3,000 3,000
202 04 dl 3,240 3,600 A 360
01 = LH YI 3,240 3,600 A 360
oAz E 2 A HAFA JIZZAMOH
20,000& = 3% * 54 3,240
403 Ut ES X201 & 22,927 23,496 A 569
02 SO 2SO HSHAHE X OH e At H 22,927 23,496 A 569
OZN=2TFEANAEY RAES E 2| 11,400
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HE - B (3H) - KISAY - BYS 0l &t o il HImEET
OGISH &l KX &= 2,387,000& 2,387
OKAIS 2gX& 9,013,000& 9,013
OE2Y=4 JI2k RIAES 11,527,000& 11,527
CE2H Y A=HS EE 74,400 68,000 6,400
= 27,400
Al 47,000
401 Al HIZ 201 8] 67,400 40,000 27,400
< 27,400
Al 40,000
01 A& HI 67,400 40,000 27,400
OE2HF=A QHUHAIE £X
500,000& * 604 2 30,000
OZFYTZ TZYHOHHAIE EX(=Hl)
27,400,000 27,400
< 27,400
OE2TY =L GUHAIE RRE+
200,000& * 5004 & 10,000
405 RHoHE S HI 7,000 0 7,000
01 AL EZFH S 7,000 0 7,000
OE2HFA FLEIAAAE
3,500,000& = 24l 7,000
L SZHN(KNEHEZ D) 41,712 43,388 A 1,676
2l 41,712 43,388 A 1,676
=24l 41,712 43,388 A1,676
201 Let249] 18,072 19,408 A 1,336
01 At 22l 18,072 19,408 A 1,336
OJ=2gR+8 #sFH (IIEZH)
9,000,000& 9,000
o=gd (JI&EZHl) 9,072,000& 9,072
202 o4dl 19,440 17,280 2,160
01 = LH o4 1l 19,440 17,280 2,160
O=UadablI(2IEZHl) 19,440,000& 19,440
203 YR =2t 4,200 4,200 0
04 NI FAY 4,200 4,200 0
©J| & (302!0135t) 4,200,000 4,200




